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qrT-1 : Tt ufiE= ue @@= argar
T (1-35) : Fr=feriae wyAt & 3w dif)

1. GEW % 6 & a7
{a) A= (b) IHaH
(c) Foorqrard (d) Frezwg

Ans.:(c)w%ﬁ[ﬂﬁﬂﬁﬂﬁﬁ'm%ww
FHfedi o ot ¥ WRTSfa e 9w W % wEe A
aﬁ%lmﬁmﬁ%mﬁrﬁmwwqﬁaﬁ’r
A F | e 500 72 & 9 § S A A
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mﬁwaﬁmﬁ{mw

€
7.

Ans. : () §7 FT TW (F7_1398-T 1518) &l
e & 9fe F1e & UHAE Ud HG § G2 ARt
qEE R G % ge o e & R e
FaEE F T=el § o awed ¥ v e € 9
o &R g0 A & dEHe RaEel’ a1 |eEEsl A
T e 21
T (W= T 6—7) : Freteriad getedl & g
st fere g
6.  ‘'grodt @ e @ ot -

(a) AT ST A FA (b)) THATR FE

(c) F T AT (d) FTHH
Arjns.:(c)‘iﬁﬂé‘failﬁfggﬂiﬂaﬁ‘mﬁfrqmaﬁ
ﬁfjwé‘l

i Hgw wA e g
H/§ﬁﬁ'm

(a) T (b) aﬁ'
(c) 5 (d) T

Ans. : (b) B3 ¥ fyafta avf o1 aEr 9 Y &5 & A
T ISAT 2, 3 B b WH H R g 1|
oo ga § qEnEa Ay 907 F o7 0 eh e, i ||
73 B4 A ww & o0 A s § o o A B A A
3. el ave W A AAw ' o o, oy s
{awwmﬁqwmmmm; V
(a) A= (b) 3eulaA

(c) Zuxu o (d) Tof famm

Ans. : (d) 52l ST # @i w9 o o IR faEnl &
AR 22 oY =@ W quf fawm (1) 1 3@ e w2
™ o= F @M TvEEs adq e H
Blest 3 gl THN & 999 & o | R S )
mﬁ@wmmﬁ?ﬁmwﬁwﬁ
% e fRaT ST @1 STufEE () & g agl fFar s
2 St TSR (;) F qer & I F9 T a2

4. aOd T R?
(a) TF FA 29 (b) T HATd WA
(c) U A 0T (d) TF FEEHR

Ans. : (b) T ¥ - Al (S0 A arel) "
wﬁrmmaﬁﬂrﬂmmwﬁlﬁaﬁﬂﬁaﬁ
Tl gem 33 ¥ omd ot wm g 9@ @ S fRef &
ATFR T F TEA F IO @ F FROT IS E
21 9% AT TN 41 SR F HROT 39T A9 2

5. THEETd @i 9TaT -t oft?

(a) = (b) @ el

(c) it (&) FgFHe

(h) T T
() Ricil
(ol AT = a1 Sfga s
Ans. ¢ (@) G0 HeF 2 ger & wd CdfeE g A
Iﬁﬁ‘l@ﬁ"&ﬂﬂ%l
\IH UV U 919" o Ugdl AN AW @ i
|z (1) 3 (6) W dEm & wE e § e
I YT I 9N AR H a@Est (3@), (9, (@),
@ HE & M ¥ 9% = st e # T 2
T UM w3 wE W e i U 9
e @t famfor 2
(1) |rfoes s §
(F) H F TG TS T2 €
@) A I & 3N TEA 9 arel agd |
@ AT T A
@) 5 F R fgfr 7
(6) 399 & T F TH|
(a) 914 (b)y dFT4
(c) TFTAT (d w137
Ans. : (2) T T GEfGE HEa H FE # Ted
T qSd §, At g T @ 9 T e % gR TEe
W AT Agd | F81 #1 R FEf @ ST & T %5 w9
o W T A, A, T, T E
9. Ted m& areerwr & forw = v W wEw
Sl
T 3T 3T % st e

Ik /




(a) =T (b) ¥

(c) aa=A (@ FE=
Ans. : (b) T 3T S0 & T F1 Y0 F 29 T
S 2
10. “mera' vl W e fafEe witaw)

(a) 39 F IA (b) TIAHR T

(c) T2 (d) &=

lAns.
11.

: (b) AT IR T W 1 Treren A |
H=r far o vt F A srendturg @Ot w6
EREkEdlE
(a) TO-qUF (b) 3TiaA
(c) FSHIR (d) darE
Ans. : (b) 9 T9™ F1 Uge 99 279 a4 98 &, 39
FeA WA WO ded 71 S ST e, S,
ST T |
12. e wea O 1 AT | A -1 e £
(a) F (b) T
(c) T=EN (d) o
Ans. : (d) 98 FRF S ha1 & 909, M, SEEL_E|
ﬂa}ama‘raﬂm}mﬂmm%lsﬁ— a\
fafear 92 w3 ) J
3 a9 T AT T
72 g 2| J
Yofer — wfer” T IUGe 14 afen v
I\ B S5
(2) TR — G \
(b) = — gar
(c) T — T TH
(d) AT — AT
(d)nﬁimaﬁéwmwlﬂﬁnmﬂ
ma’ww@ﬁlt ’
14. TrefafEa § Mg aea § -
(a) TR o1 & a9 g @i
(b) FEH A F 718 a1 B FH
(c) @ T faspen o a5 219 @it
(d) <At & 98 T ¥ fewen, ant @4 @it
Ans, : (d) 597 T § UF JUF SUEEA @ a9 TE
A (A7) YA & A A e " # ST,
Tel-agl, 3R, @ TR ¥ 92 @ a1 3 9= F
T A0 § T o g 9
st & =8 T ° e, af g et
9 T AT d e = T
sl Ty A= € el ofte g W 2
ot (woT W@ 15—18) : WA H G
Trefafaa woat & 3w i
AT S a2 35 2 T2
T F9 # R
T 3T 999 g
STYAT I e s

13.

S aG! A% g T W
T Fog AR 2
foar = Ffad =

R fae o 7

TR # FHA TEARE &
s 54t RO

AT ! 918

=3 2 = e 3w A famnd
YT FT e S |
FAFAAE TBIIATEE &
(a) Fo gEagl Fd & A
(b) ¥ T 9w H

(c) Tt w9 #

(d) ST TEE A
Ans. : (a) T & 79 7§ TS Hecdqul h1d i 799
T B 2

15.

16. ‘T T Tl € wovrresnnsssinenadl

(a) TWEET F (b) FFEA F

e (€) T F FAH F (d) =T H

Ans,; [T T F F A WA F GAGT A g
e o0 Nkikd
17. memwww%?

() GEEd FfeEt W (b) AR & Sl w
| (g BN 9 Fferdl W (d) W Herdl wW
HAnsU iy 99§ R 7w = § #E Fed 2

||ﬁﬁl‘l’( HicTat W TeR faa o 2
‘HEAT T TREET § SRl T ST ST &7

Jf@) Frard & ofwmam (b)) s s
DR oo vt @) et
Ans, : (2) TEAT F THA Y FHT F ANE @R F
.ﬂﬁWﬁ%

19. Tom T ¥g fou U faswear W o fawew

Tt
EiL- 3 IO AT FACTY g8, Flfen

AT FTHRAT ovveens Fiferes gigar €1
(a) TueT, da (b) =79, SUET
(c) 3, 3TdET (d) e, I

Ans. : (¢) Tel a9 T F IULT FAG qHiAT gL, FH
T T e AF eI M o e (o) T 2
20. e dfem o [E e @ oo i)

=t ferer = T

TrfE | T 3 g

(a) fasmamT (b) wfeemEfE

(c) Faremifa (d) 7
Ans. : (¢) T& T TR F @ g¢ Ff T F A &40 g4
w9 72t ‘i e g 21 e Aed ¥ wh §
T g Tl F W e # AW w1 W §) o
5] famifa STedr g




frafafias faeedl & § fea famen o ot
maﬁamﬁm%"’

21.

Ans. : (a) 98 9 & R A%, A, WE oS A
m%ﬁwwmwﬁlﬂ% FRIOTH,
I, THERA HEE, T, e st

72. Trerfefas o =/aw T T AT Te 27
(a) e (b) iRt
(c) Fife (d) FEfiar

Ans. : (c) T I AT v el foe, dE,
SEEl, dEAdl, WelEwl, AniRe,  STeinr, g,
qeafar, feed 21 Fiferd 2 w1 wEfaEs v 2

23, WE AT Y16 T oA it

(a) F=IfT (b) M

(c) Huea (d) =AY
Ans. : m)wmﬁaﬁﬂaélmww
saAfa, gfvswe, WY gar 0\
24, Wﬂiﬁmﬁﬁﬁéﬁﬂﬂﬁﬁql ﬂ\w

(@) T (b) =i

(c) ATHA (d) 4% a
|Ans. : (d) T “F5’ TR F 1 ¢ i i) el
25, “aniforeR’ vTee W W @ £7 i

(a) & (b) &

(c) ¥ @ firs

Ans. : (¢) ST T 39 Ve F A G S/
qﬁa?f:{aﬁ%' %mmﬁ%lm%ﬁ ﬁgl
2T T F G I Ve awias, dafaw, dfed

i g € }
H=r fow T T & FReget wve A fofEw
a:‘iﬁt{ﬂﬁaﬁ%‘gﬁfqira‘r{d)maﬁﬁﬂﬁﬂ

26.

Wma‘rﬂ/rﬂmwz
(a) (b)
7o g s w3 A
(] (@

Ans. : (a)slaam% ‘gferd =% g A F A S09E @
T g

27.  =ufd @ |t foese § -
(a) a9+ 3 (b) = + Hf
(c) a9 + 3 (d) 9 + ff

Ans. : (b)ﬁﬁﬂﬁ%ﬂgﬂr{gﬁrmaﬁﬁ a?’ T 9, *
S HAY: G g A 7, T, fha'jm
ﬁﬂaﬁtﬁﬁfm,a,a;)iﬁaﬁ%lﬁ@—

o + 374 = guid

T + =T

T + v = T

36,

28, Ta=d= visg &1 o= Hifww)
(a) TEH (b) #fa
() 37 (d) Hamg
Ans. : (b) TG, FF A1 A HA & THEAE U=
£ wafs e gan 1 gatgard v 21
29. ‘'ge'' = faem wA—
(a) ot (b) fomm=
(c) Ie=amd (d) #T=

|Ans. : (b) 7 F1 faem we fawe & &) |

30. Tigar, Ter, afer R vrsg & vataarst §7
(a) o (b) &
(c) dfFa (d) T
Ans. : (c) TE@, den, wfe, dfee wft Tier @ wEigEET

T 2| yad o ord Ien, wad # 74 Ay, e
ad gz, @a aa &)

9T-11 : | Ffeg wdieqror
Part-II : General Intelligence Test

Thexe are four candles which can burn for 5
m 4 hours, 3 hours and 2 hours respectively.
A them are lighted at the same time. They
are Kept lighted till the time 3 candles are

| ", 4 T2, 3 90 Ue 2 uve E, W UE i H

finished. If the cost of lighting each candle is
1 Sporlmur what will be the total expenditure?
Arara o e @ AT HEI: 5

wdh & v safera frar smar 8195 e ¥ 3
_GUT d@ ST AT € WS A &l § d=

K . (B e
W™ H @ T 1.50 U Tver 7 @ F w=
femamm &rm ?

(a) T16.50 (b) T 18.00
(c) T19.50 (d) %21.00
Ans. : (c) TR AT F 4 92 9% O F FA G
~(4+4+3+2)15
=13x1.5=19.5%.

32. If a clock show time as 7 hours 30 minutes then
what will be the angle between hour hand and

minute hand ?

afy foreft ot & 7 s 30 R ST @ A, @
=0 wua wve vd fime #t ggel % e feew

fexft =1 sior s ?
(a) 120° (b) 95°
(c) 75° (d) 45°

Ans. : (d) 3 A & T FHT = (7—?}30 %

-

=(7—6}x30+%
=30+ 15=45"




33, A dice has been shown in four different
positions as follows. Which number is on the

opposite surface of number 3 ?

& UTH & =T
o # 3w 3 & faufia wew O & A 3w
9

(i) (ii) (iii) (iv)
(a) 2 by 3
(c) 4 (d) 6

Ans. : (¢) TF T8 common 98 ??I, 341?!7% (1) B (iv)
 Fe ofF amEd g AT e W

SR (i) 2, 5,[3

AFA (iv) 2, 6.

o T U % eurn W 3 F fawda 4, 1 % fawdy 2
ar 5 % faula 6 g

34, How many rectangles are there in the given
figure? \
ﬁaﬁnﬁa@ﬁrﬁ@‘aﬁ‘aﬁﬂgﬁ?{ J

N \“v
(a) 20 (by 22
(c) 27 (d)y 29 .
Ans. : (c) V;/LJT
a b
i
¢ d
€ f

J
a
(=}

h

—)@-@Wﬁﬂﬁﬂmﬁfﬁm=a,b)c,d,c,ﬂ
g, h, i, j 314fq 10

- WA A F W A A =
(et), (gth), (itj) AT 5

- TH-EF Rl ¥ =4 amEAl & HE
(ctetg), (b+d+f), (d+frh) F4fq 4

— IR-ER e ° A4 AT @ §E = (atctete),
(b+d+f+h), (abretd), (cre+d+H), (Fgthte) 3741 5

— UE-UE A T S emERl FOEE = (atbtetd),
(Frg+htet) 319iq 2

Tl el o e =91 =

A Fel A F WG = [0+5+4+5 +2+ 1 =27

ﬁ:wﬁ%ﬁﬁﬂ@ﬂﬁﬁ@w%aﬁﬁﬁﬁnglishﬁ

Rectangles (21) forar mm 21 s 7 off a1 aHet

T Fe [faFed ()] S R 2

(atb), (c+d),

= (a+cte),

YTl =T g9TET T 81 59

\Tj..quﬁTBqﬁEHxﬂﬁt%I

3 Ram is elder than Shyam by 315 days and

Krishan is elder than Ram by 70 weeks. If
Krishan was born on wednesday then which
mas the da%on Shyam's birthday?

315 faT aregr § &iw wwr, T & 70

mm%nuﬁwwmwaﬂw
o |t o ot ST TR o ga an?

(a) Monday/|I7aK (b) Wednesday/ el
(¢) Friday/qHar (d) Saturday/¥ar
Ans. : (b)
315 foqt & famm i & 9@ =
=0
A: T9, YA 791 91 & F9 &G4 TF a7 4 q9a%
F 2
36.

[3

3;:’asr‘ﬁﬁrqm

In a particular situation 'A' is 4 years elder to
'B'. 16 years later 'A’ will be thrice of his
present age and 'B' will be five times of his
present age. Find the ages of 'A' and 'B' two
years before the given situation.

e feafa & A", 'B' & 4 od w=r 81 7@ fwfa &

AN éﬂﬂﬂmwaﬁmmmmﬁ
2 st afie ‘B ey Swet wAAr

sﬂ?{iﬁwwﬁw@ﬁnwm@%w
= fHidg fafs ¥ 2 ad wget ‘A’ W 'B' &
amwzﬁ‘?
{1 6 years and 2 years/6 T4 &t 2 =
(b) 10 years and 6 years/10 a4 3 6 74
[¥" Syedradndd-ycaraﬁﬁ'ﬂfaﬁ'(él-
kd) 12 years and 8 years/12 @4 % 8 af

AT I =
‘R’:‘Hﬂﬂ
(x+4)3 = (x+4)+16
3x+12=x+20
2x=8
x=4
HqT: AR FH=x+4
=4+4
=gy
. @ af uged A ST B# IH =8 27q94 - 2 a¥
=6 aa 274
A person travels from place 'A' to place 'B' at a
speed of 40 Km/hour. While returning he
increases his speed by 50%. What would be his
average speed for the entire trip?
Tk S A" T | B ¥ ae 40 fEet ufy
TUT T T | AT FAAT & T HGHAT AT 50%
iRt drear €1 ST e & e suE
aivera e = 37
(a) 36 Km/hour/ 36 Tl gmey
(b) 45 Kmvhour / 45 f&l/avar

X+4

37.




(c) 48 Km/hour /48 fefi/amar
(d) 50 Km/hour / 50 &1/ 8y
Ans.: (c) A€ B % 9 | FEt #1 T = 40 e

B AT 0 F At & = 40{3}&0 st e
_ 2 4060

. aftga are
40+ 60

4800

100
48 T /eeT
Six People A, B, C, D, E and F, are sitting in
two rows with three people in each row. E is
not sitting at any end of any row. D is sitting on
the left of F and is at second place. C is sitting
next to E and diagonally opposite to D. B is
sitting next to F. On the basis of given
information who is sitting opposite to B ?
Fe =fE A, B, C, D, E 37 F, &9 =afer ufer
ufvR % AR & ufErE § 48 §) B el of
uferr & 3 ® € ¥1 D, F % ¥ 3w
= W #1C, E  wgr € i D Aviaa
@ §1 B, F &1 Ut §1 Suics Fea &
YT T B & TE & §7 Yy

38.

(a) D by F
© A © i o W.gi
Ans. : (d) 5% & U TC G % SR W a1 |
i & T fead 21 \ H

D B F

\i\ j// ,/‘i/l w‘( \\\

A E C

wWE ? % B % 9@ E @m ‘

39. A water pump has a capacity to fill water at 10

liters per second. How much time will it take to
fill the water tank of 80 cm x 60 ¢em x 50 ¢cm?

10 oz ufa Tvs & 90 § U 99 = e o

BT 80 Bt x 60 At x 50 A W FT Fr

WA o R wue e

(a) 12 Seconds/12 e

(b) 24 Seconds/24 FHvE

(c) 36 Seconds/36 HHUE

(d) 48 Scconds/48 TS

Ans. : (b) &9 &l FH = . x 9. x

=80 x 60 x 50 99 Tt
= 240000 =7 T
=240 H2X

g i 9§ @m
= 24 WFvg

(- 1000 ¥} =1 @)

oy = 220
10

40. There are six people L, M, N, P, Q and R each

having different heights, N is taller than Q and
P, but shorter than M. P is taller only to Q
while R is shorter only from L. From the given
options choose the one that shows the pair of
tallest and shortest person in group.

B |feEt L, M, N, P, Q 3R R & & v &t
W@ AT TN, Q 37 P ¥ &= ¥
g M | BieT §1 P faw Q § e § sl R
fo® L & grer 1 e 8 9 =9 W g e
T T A B2 F WS w E7
(a) MandP/MAIP (b) PandQ/Pa4IQ
(¢) MandL/MAML (d) LandQ/LaamQ

Ans. : (d) TSR G & 7R & E A
Q<P<N<M<R<L

T Q AW BT 741 L Wa® 7wl 21

41.

Complete the series from the given options at
(?) sign -
frrefafEa v o & W aEen ¥ woT Ao
~ forg (?) Tam oe = srrarm?
J /2/33], 2197, 3375, 4913, ?

“(a) 288

f._t:{/_ﬁjﬁ.‘t?

E]ls.::camﬁmé =
‘ 2197 3375
42.

(b) 7110
(d) 9826

33 4913

6859
: | | |
' a3’ asy’ ant vy’
Tl 4 reetangular block of 4x6x8 c¢m dimension

is eut jnto small cubes of side 2 cm each, how
+many small cubes can be formed?

| et armareTeT s TTEERT SITATT 4x6x8 HY
%, & afe 2 9t 2 a9t BR-r uat o
Tftafda &t faar <@, @ Fa e o e
w7
(a) 12 (b) 24
(c) 36 (d) 48
Ans. : (b) STIAHR AT F AT = (4x6x8) T T,
BIS O N HEET =2 % 2 x 2 = § T 4.

ﬂ ‘E{T-Iﬁ . =4X6X8

43.

\

\
A\

=4x6=24

Ajay and Vijay are brothers. Ram is father of
Vijay, Kamla is Ram's sister. Prema is Ram's
niece. Shubha is maternal grand daughter of
Kamla, How is Ajay related to Shubha?
arwa 3w e wg §) ww R & e #
HEET T T WET T YW TH F ATt E g
R S AT €1 I BT I T T g7
(a) Brother/TE

(b) Maternal Uncle's Son/Fa 9TE

(¢) Maternal Uncle/AM™T

(d) Nephew,5isT




Ans. : (¢)

a5

¥

i

-mmrﬁﬁﬂ

\_/‘ —a
HaY A ¥ W ¢ fF 9 g & oA 2 |

HHl
44.
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In a exam 70% candidates passed in paper-I
and 60% candidates passed in paper-II. 15%
candidates did not passed any paper, while 270
candidates passed in both papers. Find out total
number of candidates appeared in the exam?

wa ufam # 70% fareneff tov-1 § s+l gu
3T 60% feramdf dur—m # ==fivf gm 15%
formeff S Twdr # argeiol gm wEfE 270
fereneff =1 T o =it gu it w wer
we Tt §7

1
-

(2) 600 () 580 \ J
(c) 560 (d) 540 /507
Ans. : (a) 9L # argamf faafeat 1 sf@m,
= 10070 = 30% ‘
T 11§ ereit franfdEr @ sfi = 10060 - 40%

Fd S fEfdai #r afrad = (40 + 30
=55% \
Fel Il il & 3R = 100 - 55 =45%
o 45% =270
270

1 000/ —

o= —x

9
|
f// /’/ |I\

100 =600

Examine the given figures carefully and
identify the correct logical option that can
replace (?) sign.

W= # & T e § uye e

45,

o (7) & = 9T == A ?

16 64 256
1@9 23@100 36@144
3 16 64
(a) 37 (b) 47
c) 56 (d) 42

Ans. 1 (d) 59 ¥R,
Ji+JiE+J§+Ji:10

a4qr J@+J1TG+J1_6+JE=27

I WHR,

V256 +144 +/64 +/36=42

In this question one word is given alongwith
four options. There is only one option which

46.

\
|-

cannot be made using the alphabets of the
given word. Choose out the odd one-

T YT W UF Ve qAT IH WN faswen fad
T §1 O faseut § B e Ua A fased TEn
T o fedr T veg & oredl W W@ wemEm W

weRaTl 39 ferseq &t i
INTERVENTION

(a) ENTER (b) INVENTION
(c) INTENTION (d) ENTERTAIN

Ans. : (d) 7@ =2 # INTERVENTION 3R A 78 &
TGfAT 918 ENTERTAIN & 511 <7 96l 21

47.

Choose the correct alternative from the given
ones that will complete the series at (?) -
& T sgaen § goarw o (7)
& T T T AT
1,5, 14, 30, 55,91, ?
(a) 121
_ (c) 142
‘Ans.:(d)”j@ﬂwwﬁ—
G O
)
N 9 H16 <25 36
SN

B e e o
48.0 Two group of numbers to the left side of the
sigm i are related to each other in a logical
mapner. Select one number from the given
options fo replace (?) sign in the same logical
mdnier.

= v | T % 91 i @ TE Hest &
0\ rew o i & T sfmen § woeaTe for

(?) & == W e fawey s ?

11529 : 72135 :: 23687 : ?

(a) 36999 (b) 47261

(c) 12968 (d) 69981

(b) 136
(d) 140

5 9
(I

\

Ans. : (¢) 579 791
1+1+5+2+9=18
aqr T+2+1+3+5=18
Il R
2+3+6+8+7=26
aHr 1+2+9+6+8=26
49. Find the missing number in the following series

at (?) -
frreaferfiaa & w8 gaen o wyware o (2)
2 T OT =T A ?

49 ,3
97207 786
.17 19
(a) 20 (b) 0
.20 29
= ) ==
© 45 @ 153

9



(b)mﬁmﬁ%

+10 +20

39

86

I
4
9
I |

+11 +44
In this question four words have been given out
of which three are alike in some manner and
fourth one is different. Choose out the odd one-

30 gy | fod T = fawedt § ¥ fi= faaew
feher w9 | Fef-ara 81 39 vreg &t I S
T E —
(a) Acharya Kriplani/zT=md Saart
(b) Dr. Radha Krishnan/T. T8I
(¢) C.V.Raman/dt. &1 7
(d) Rajagopalachari/TSTIAET=R
Ans. : (a) 3= FIAH & Sisdt v ot fFA
A T foa T 2

qrr-111 : |rE=r JA 2 j
Part-111 : General Knowlcdgp Q :
For the year 2016-17, in terfishey defence
budget, what is India's ranking/as compared to

other countries of the world?

forgar o o4 2016—17 & 8T G5 U@ TEA T
fafo= 39l =i 9o ¥ HF W @R

(a) Second/ZHI (b) Fourth/z :

(¢) Fifth/ar=ar (d) Sixth/®

Ans. : (b) T 2016-17 ¥ 39 T9 F @ mﬁ?m
ad F g F 9.7% F, I’ F W, Fm N

+22

50.

51.

a1 T & 6 9 2017-18 F w0 a9 # figd 9f A
qa # 6.2% Ft afe F 7, | Fror awa fafm 2w
Ft g & 54w 9w e @ 9 2016-17 # @ swe
& fau 2.58 @@ FE T99 A91 2017-18 F W I &
fiIu 2.74 @FE Hirs w93 F1 W@ B T8

52. The Second Battle of Panipat was fought
between-

urfroe =t fedfte g e =fier erer mar ar?

(a) Babur - Lodhi/aet — @it

(b) Akbar - Hemu/&&a% — 89

(c) Ali Raja - Chandragupta Maurya/

Sl I — T A

(d) Akbar - Lodhi/s/a% — &+
Ans. : (b) T & fadm g8 5 TR, 1556 5. @
AFTH 9F AR W F 91 By I 95 T
fasifee (29) o qnat aesTE STEeR F WeA gar oan
5 T INEE GO T F T A T @ ar A 35
AtE § ©F I T W9 F FOO 97 A G A3 ST
& HEE 9w @ § P F R Sk war o adm
g & fadtE g S o

53. For the year 2016, which Indian player has

qualified for boxing in Olympics?
Toe vt fgerdl 3 ad 2016 @ Afas

gferifieT o afferdT T &g Avaar W st 2
(a) Devendro Singh-%ﬁ%ﬁ iz
(b) Vijendra Singh/fRi= fifg
(¢) Shiva Thapa/f¥rar gmar
(d) Dinesh Kumar/R3 FHR
s. 1 (¢) g femst fmar g | ad 2016
e S ST e g A o &5 g

54. Who preceded Chakravarti Rajagopalachari as

the Governor General of India?

=rehadt W Ud WG & MEAT

TS A 97

(a) Lord Mountbatten/eTg AE~Za2

(b) Lord Irwin/a@E T

(c) Warren Hastings.-’ﬁﬁﬂ BT

(d) Lord Memo/@Tg #40

: (a) e trmr—r (T wifeg T fager

':‘m—q} Wed 9N & g a9T =ehedl YeMrarEn] &
»Lf &, Ta S 41 ana efET dme & owew
T FA AL
55.  What is the percentage of TRON, in chemical

compasition of earth?

J \

faftr el 7 o § 68 =9 ¥ 9§ ™ TR (49) || (A HAns.

Yot @ e § wEtE @E aw (IRON)
# et wreft 22
(a) Approximately 20% - 22%/@THT 20%-22%
(by Approximately 25% - 27%/@THT 25%-27%
~ () Approximately 40% - 42%/THT 40%-42%
\ 0d)  Approximately 32%-35%/@THT 32%-35%

: (d) 9t F OFE O ST (32.1%), St
(30 17%] fET (15.1%), TET (13.9%), Te
(2.9%), fFfEa (1.8%), Ffeeam, Togdif=s 701 39
I 7 IE W 2| GTEEA W ISy T F
STER e S o wid # e 479% siedeE 2
56.

\

I

According to population census 2011, what is
the population density of Uttar Pradesh state?
TH 2011 Ht FAACAT F AR W IT-HSI
TS T TAEEAT S T &7
(a) 661 Per Sq. Km./661 Sfa & fpeirdier
(b) 573 Per Sq. Km./573 ¥ & fraide
(c) 828 Per Sq. Km./828 uft &7 fheiidfiex
(d) 785 Per Sq. Km./785 Sfa =7 farainiiey
s.: () 78 2011 & SHIOAT & HEX T ST A9
o & TGS 99 828 At Wiy @i fpemdiet g1 1
fFame % eF%a H @l ae AfFdl @ HEm &
SEEAT S e S 2
57.

What is the percentage increase of amnual
budget estimates of Uttar Pradesh for the year
2016-17 as compared to the original budget
estimates of Uttar Pradesh for the year 2015-16?
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IO YT T K a° 2016-17 T AMEE T

I A6 2015-16 F ATEAER TAHE

T qorT § feRer Wit tfereR gar &7

(a) 20.12% (b) 18.60%

(c) 14.61% (d) 12.10%
Ans. : (c) I T2T TF F G4 2016-17 1 dlfis Fwiz
AR A 2015-16 F ARAEEF TIHE AR F AN H
14.61% @ g1 &1 9ae ¢ % o 7w &1 2018-19
ggﬁﬁmﬁ@ﬁﬁ?ﬂﬁaﬂfaﬂwﬁ 11.4% =t 3%

|

58.

What is the radius of earth?

geeft 1 erefeama fefemr 82

(a) 5999 Kilometer/fFaiizt

(b) 6371 Kilometer/ ezt

(¢) 6990 Kilometer/ ezt

(d) 9066 Kilometer/FFardzt

Ans. : (b) 95T T2 ¥ T0 F FW A d0 adq AFA A
591 a1 AT 21 T TF IO TS F Ag UHAT T 30T
g, o W sfimT wwa 31 so fayeda frem 6378
et a1 ydim B 6357 fFamiel #1 ydis
gitea = 6371 feadier o $a saea 510@0,0@

ot ferdt 21
59.  Which district in Uttar Pradesh hasiic highest
sex ratio?

I WewT T § frm weue ® foir
werd stfiren §7

(a) Azamgarh/3T=HTE  (b) Deoria/4

(c) Gora.khpurf"ﬁ“(@gi (d) Jau:tlpurﬁ

Ans. : (d)
TR ger e & fer fermrgeme
TS 1019
At 1017
TET 944
SR 1024
60. 'Who amongst the following has never served as

Governor in the Uttar Pradesh state?

e § & fRe 39T WeYT TS o TSETer W
e et Tl daren?

(a) Sh. Chandra Bhanu Gupta/4t 5= A1 Twr
(b) Sh. H.P. Mody/4t w=. . At

(c) Sh. Kanaiyalal Maneklal Munshi/

o FRarea AfveTa TR

Sh. Burgula Ramakrishna Rao/

A e T T

Ans. : (a) &t gAgsl gATEm W (1945-1952), o
FredTed W @ T (1952-1957) @4r A qen
TIFWT T8 (1960-1962) I W29 & TG & % 2|
ot T WY T S R &F TATA FH A @

61.

(d)

For which movement Mahatma Gandhi gave
the slogan "Do or Die"?

& Teru wgrenT wieft grr =T 4w
T A T T ar?

NK\

Poorna Swaraj Resnlutionfﬁ[?‘f HUS AT
Quit India movement/ 9T E‘?TET sre
Dandi March (Salt March) movement/
=T A (T TEEE) A

(d) Khilafat movement/faeTsa s<iem
Ans. : (b) ‘T o1 T H AN HEAT M T 9T Bret
H<ied & gAd Rar a1, fSes o, 9 & Sear 39
T AE F U W T T WA A1 A= F
3R 8 o, 1942 €. 1 sfae WA wEE # §IE
e & Tarferar 3% § gf ff o F9 deiE F 9@ 9w
BIS! A=A & SRR F @ T 9 3Ted H 9 A
& ‘STRYE S St F ded HIW F AUl Aed &
e 3 frar & foran afea 9ma oiet o= F
TF T, FiF 39 ARG F 99 WG F TAF Tq
e & 4l
62,

(a)
(®)
(©)

When is the "International Women's Day"
celebrated?

“ st wigen fEaw’’ wa waTEn W #7?
o, (@ §™ March/8 A4
B, 8" August/s 3T
- c‘lwf.*'i“' September/5 Faa=r

(MO November/9 Taw
’Eu.;fan‘mﬁqmﬁaﬂ’mﬁsqﬁﬁ
599 WA T S | SHE Se5Yd HiRanst & I
AL A, TS 3 e e e aur 34
Higens 71 am 7 w1 77 @ R aRensd # 3w
sfern @ g sarg B 2

- Which planet of our solar system is also known
as 'Red Planet'?

Tohg g &1 ‘T W' & A A off 1A e 872
(a) Mars/H7Te T8 (b) Venus/¥F T8

(c) Mercury/ 99 38 (d) Jupiter/g%afd T8
Ans. : (a) SR 7ved § oa 72 g4 @ gt F o4 # e,
AFR H WOl FA9 A% W gl T T W SR
HiFaEs F1 AHA F FROT 9 § I W sEal ofF
ot fradt @ e ST 58 e 7w i 81 e
TE B GE F AR F W F f 5 S 2

64.

‘Who was the founder of 'Arya Samaj'?
" et AT Rt TETOAT R i ?
(a) Raja Ram Mohan Roy/TT_T 1 Higd T
(b) Swami Vivekanand/ =it fqaesm—=
(c) Swami Dayanand Saraswati/
T A gl
(d) Raja Radhakant Dev/Ts THTEd =8

Ans. : (¢) @ @AF= GOEd A 3E HAE & ST
aier, 1975 # g=d § far a1, fige s afs o
F YE T F NG S, 9°G F AfEE G F
ToHfaE ®9 § UE T A AEAT 91 qEe S9E 5
TG T AT
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65. In which year, was Urdu declared as second

official language of Uttar Pradesh?
IW WY U H 3¢ W Ty wewmn we
wiftre ferar wen?
(2) = 1986 H (b) =91982 %
(c) @ 1989 # (d) =1991%
Ans. : (¢) ‘I U VIGHE 9T HOWeA afufEm,
1989’ %mwﬁwwaﬁmﬁﬁ@fr
TS e R T A
66. Which place out of the following is not related
to productmn of steel?
frer ¥ & B T T =i Tmior i et 765 y?
(a) Jamshedpur, Jharkhand/SH3ERR, gRa@rs
(b) Burnpur, West Bengalfa:fE[(, af¥em =mre
(c) Jharia, Jharkhand/fn, FETS
(d) Durgapur, West Bengal/ZME, Uf¥=m e
8. : (¢) FRAT, TRETE ToF H UH el 2, o HFa
IR % fom S S 2
67. 'Which Lokayukta of the following in Uttar
Pradesh has served the office, for maximus
period of time? %
I yewr e o fe # # fRw ﬁm@a‘
Tl eRTer WAtk T8 £7 D,
(a) Justice Mirza Mohd. Murtala/Hussain/
=arggfd foel dreere gien g
(b) Justice Kailash Nath Goyal/
FereT A T
(c) Justice N.K. Mchroha’:ﬂ'l?il'{ﬁ usrgﬂsfﬁn
(d) Justice Sudhir Chand.ra Vermaf
e gfR 7= an
Ans, : (¢) 3T TS &
mmqﬁlzq%ﬁaﬂm aﬂmnﬁfzooeﬁr
WZOI&WW“@EIW@
1983 ¥ 99 1989 7% FHare 4 f 1989
# a4 1995 7 a4 g == Fat & 2000 |

F waifas me#h

Under the "Kanya Vidya Dhan Yojna", the
Government of Uttar Pradesh awards the
motivational prize money, after
clearing/passing which class?

) g A’ % e 39T weer
TOEHT FT | e § 3=l 29w oremme
T aAayr & et 82

(a) S"/di=aT Fe (b) 8™/aT2T Fear

(c) 10%/5dt en (d) 12%@rEEr

Ans. : (d) F=1 0 o9 990 % SR SO 99
TEHR EW FETRE T g aren gdt s W

T & S 21 R aw A # yEeT 3w

et ot gy fig aea 4 9 2012-13 #
& a1 |y 9= gt & 30,000 & 7 G99
# Mg g 2013-14 F F@ g0l 92T FT 20,000
FT L M| FAAE § YS9 SR G 5§ AN & ded
mwmﬂﬁﬁwmﬁaﬁamﬁmmﬂmﬁmw%

uﬁm
e
TIE'F{

i |

—

70.  Which of the following hill station is located at
the highest fmm the sea level?
§ wedi T w HEE wYE a9
p T Haw HAfw %?

/(@ Darjecling/ ST (b) Ooty/&2t
(@), “himla/ e (d) Dalhousie/Serst

e

Ans, : (ll)/
TARE YO WU a9 ¥ Seng (He 6)
2l 2050
‘ & 2240
%EIT 2202
STRTSH! 1970

.« On recommendation of which of the following,
ithe provisions for fundamental duties were
added to the Constitution of India?
forer & @ fobm = &t wegfe & smamw W oOe
THdedl W Wl WAL=l & YR & Wi
T wrgT T °ar?
(a) Balwant Rai Mehta Committee/

qerad T Hed affy i
(b) Swarn Singh Committee/0l fifg WAl =1

oy (A

68.  From where has the national emblem of India !
been taken? (¢) Iyengar Committee/3TETE Tfafy =
e o1 g Fo et o foran e &7 (d) Thakkar Commission/3%HT A i
(a) Bodh Vihar, Gaya/Ta1 ftea aitg fer & : (b) TR W e A B A b AR W
(b) Kolkata Museum/STashmar figq dogea & ‘Iﬁ m—;faﬁ H gEtad SEgEl S 429 §9ied sy
(c) Patna Museum/YeT f29d e & 1976 % &0 ARA 3 HAw # g1 TN FwHd T Fea
(d) Ashoka Pillar, Sarnath/ Sfafy daradt o5 9, swEw et S g $ g
e Red Sy @ 4 F A I ST S e EEEE & W E
Ans. : (d) 9T & UPFIE GRA19 97 SIS @R H|[72.  Who has been awarded OSCAR 1n the year
form T 2, S GRAIY 3 GerEd o R HEELED el 2016 for documentary film cate%l
@ # A fifz 3, 9 uE oW @ e ds e gu Y 2016 § TALE gafus St form 3 aife
TF A 6 AWK & W UH U dead d 0w v feRa?
T, St W gen us We, UF fiE a9 o 9 9 (a) A.R. Rehman/T. 3T, @A ¥
mgﬁﬁm%@ﬂwﬁwmﬂwm (b) Asif Kapadia/3f® Huifean &
W & SR &1 o =% T geN &1 WRA TR 3 (¢) Deepa Mehta/&rTT g
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Ans. : (b) 99 2016 ¥ TEI= guft § fifem wdt’||76.  Article-368 of the Constitution of India deals
& fore ‘snfes e’ qor SR8 @ oweE R with-
| AT HiAU & HTePE-368 & A fRew #7
73. Recently Samajwadi Government in Uttar (a) formation/establishment of Finance

Pradesh has approved an increase in monthly Commission/fd =M & 737 |

pesion for oldage citizen. What is previous and (b) process of Constitution amendment/

rewsed ension amounts? e T SRR

£ HHTAT! BYRT R To7 We9T T | N
qm ¥ora & T=lT fRAT | TR (c) emergency regu].dtmnﬁTI‘QTﬂ?aTE‘ﬂ“-T I T
ferat =1 T2 £7 (d) formation/establishment of  Election
Commission / fraf== smgim & maq &
(a) ¥ 200 to¥ 300 per month
2200 ¥ Z 300 ¥ are Ans. : (b) TR HfEE SR 368 F ey wieE §
(b) % 300 to T 400 per month Wmﬁm#mﬁﬁaﬂtmmuéu

T 300 F T 400 ¥ A
T 400 to ¥ 500 per month
T 400 ¥ T 500 5 =18

(c)

77.

To select the entire text in a document in
computers, which keys should be pressed?

forelt droget § wA- o weeeT gl e

(d) T 500 to¥ 600 per month [ WUl ST T A R e 87
X500 § 2 600 3 7 (a) CTRL+K (b) CTRL+A
a. %. . Fal (-

Tt o ot S gl 0 T T TR N A A S
9 Ff g 1000 T, F & T 2 1~ : . . .
4. Fnr the year Z'I}IS who has beea a@ﬁ > 4 X ‘:ﬂllolﬁ :;h ¢ decimal equivalent for binary

[ﬁ;]i:"'l!a Award' for the I\ahuWnu of ¥ (Binary number) 1011 T Z9TER

4 2015 /1 THA & TG G@ H (o0 i e @A Br?

R TR fer wan? | ) 3 (b) ©

(a) Sreejesh Ravindran/faerer wdimss @0 (d) 15

(b) Abhilash Mahatra/aftrerer i@
(c) Babita Kumari/afse FARI
(d) Satish Sivalingam/Serer feraferm. .

- (a) @ 2015 F IR F T T (BN B
aﬁjqw e Wi # R @ 21 s

T

)

A

, FEET A T FEA F a9 G frafem
asf emard war B T A 2017 &

(&) % e wad, gha
wﬁwﬁ%ﬁﬁﬁ,mﬁm

| Ans.: (I = 1011

AV + 1x2" + 0x2” + 1x2°
(=152+0+38

=11
‘Which one of the following options is not
associated with computer system?

frefarfaa § & o wwogeT woneft & gt
e 27

(a) PPP (b) FTP

(c) URL (d) EPF

Which of the following pairs is incorrect?
forer & =i gafere 9 §2

{a) Baburnama - Babur/s={-H - ==L

(b) Shahjahan nama - Mohd. Taahir

Ans, : (d) PPP (TaX Wige S2¥M), FTP (FF@ 216
FEe) a1 URL (e Rad @mey & day
FT YTl § 21 EPF (FH9d afys faftn) &1 ey
FOATT JOTA F T 21

YRS A - HEWE Alfet

80.

Permanent Memory of a computer is known as-

foet @wgex ® Permanent Memory T
Tl 87

(@) RAM (b) CD-ROM

(c) ROM (d) CPU

(c) Humayun nama - Humayun
g A - g
(d) Tuzuk-e-Jahangiri - Jahangir
TIF-T-STRM - ST
ns. : (c) ﬁﬁﬁ“’l’ﬁ z-
EICTeEIEl] - EIEES
TESTE AT - HEOE A TEd B
g A - T@EEd 3
TETIEG - i

s. : (¢) ROM (Read Only Memory) T HUEHIT i
mem ¢ e wEm Fge A e st
suFwi § fFA S €1 ROM F72X # Permanent
Memory @1 RAM (Random Access Memory) FiFrgel
F eTeE AER Bl 2
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